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Subtracting a 2 digit number from a multiple of 10 can be done ‘in your 
head’, but it does need care and using an efficient method. 
 
Let’s look at: 
 

50 – 27 
 
Probably the easiest way to do this is by ‘counting on’. 
 

Step 1:  Count on from 27 to the next whole ten (30), which is 3. Hold the 
three in your head for later. 
 

Step 2: Count on in tens from 30 to 50, which is 20. 
 

Step 3: Add the 20 to the 3 which is 23. 
 

50 – 27 = 23. 
 
 
(You will often find that children give the answer as 33 rather than 23. 
That is usually because they have counted on from 20 to 50 which is 30 
and then added another 3 to get 33, ignoring the adjustment of the tens.) 
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1. 20  -  16  =             2.50  -  32  = 
 
 
 
 

3. 90  -  27  =          4.70  -  49  = 
 
 
 
 

5. 30  -  14  =          6.60  -  11  = 
 
 
 
 

7. 80  -  41 =           8.50  -  29  = 
 
 
 
 

9. 40  -  28  =          10.80  -  16  = 
 
 
 

 
 
 
 
 

 

These are all ‘take away 
from multiples of 10’. 
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1. 40  -  17  =              2.80  -  61  = 
 
 
 
 

3. 60  -  34  =           4.70  -  42  = 
 
 
 
 

5. 50  -  21  =           6.60  -  33  = 
 
 
 
 

7. 70  -  39  =           8.60  -  17  = 
 
 
 
 

9. 90  -  46  =          10.80  -  28  = 
 
 
 

 
 
 
 

These are all ‘take away 
from multiples of 10’. 
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1. 20  -  16  =  4        2.50  -  32  = 18 
 
 
 
 

3. 90  -  27  = 63     4.70  -  49  = 21 
 
 
 
 

5. 30  -  14  = 16     6.60  -  11  = 49 
 
 
 
 

7. 80  -  41 = 39      8.50  -  29  = 21 
 
 
 
 

9. 40  -  28  = 12    10.80  -  16  = 64 
 
 
 
 
 
 
 
 

 
 
. 
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1. 40  -  17  = 23        2.80  -  61  = 19 
 
 
 
 

3. 60  -  34  = 26      4.70  -  42  = 28 
 
 
 
 

5. 50  -  21  = 29      6.60  -  33  = 27 
 
 
 
 

7. 70  -  39  = 31      8.60  -  17  = 43 
 
 
 
 

9. 90  -  46  = 44     10.80  -  28  = 52 
 
 
 
 
 
 

 
 
 


